








HERO , BOY , GIRL   is written as  5BI ,  7BI  ,  3FA    

What is the code for ‘mains’ के लिए कूट क्या है

A. 4DAA

B. 4DAD

C. BAAF

D. 2AAF

E. None



387 654 321 879 521 
If all the numbers are arranged in descending order, which of the 

following number is third from the right? 

यदि सभी सखं्याओ ंको अवरोही क्रम में व्यवदथित दकया जाता है, तो दिम्िदिदित में से 

कौि सी सखं्या िायें से तीसरी है? 

01. 654 

02. 879 

03. 321 

04. 387 

05. 521 



387 654 321 879 521 
If in each number first and last digits are interchange, in which numbers are 

all the digits are arranged in ascending order?

यलि प्रत्येक संख्या में पहिे और अलंिम अकं आपस में बिि लिए जािे हैं, िो सभी अकंों को 

आरोही क्रम में लकस संख्या में व्यवलथिि लकया जािा ह?ै

01. One 

02. Four 

03. Five 

04. Three 

05. None of these 



Statement: 

Only few Human is Child. 

All Child are Student. 

Some Student is Innovative. 

No Innovative is Scientist. 

Conclusion: 

I. Some Human are not Child is a 

possibility. 

II. All Scientist can be Student. 

किन: 

केवि कुछ ह्यमून चाइल्ड हैं.

सभी चाइल्ड थटूडेंट हैं. 

कुछ थटूडेंट इनोवेलटव हैं. 

कोई इनोवेलटव साइलंटथट नहीं ह ै 

लनष्कर्ष: 

कुछ ह्यमून के चाइल्ड नहीं होने की संभावना 

ह ै 

सभी साइलंटथट थटूडेंट हो सकिे हैं 



Statement: 

Only few Human is Child. 

All Child are Student. 

Some Student is Innovative. 

No Innovative is Scientist. 

Conclusion: 

I. Some Human are not Child is a 

possibility. 

II. All Scientist can be Student. 



Statement: 

Some Point are not Scale. 

Some Scale is Triangle. 

Some Triangle is not Set square. 

All Set square is Circle. 

Conclusion: 

I. Some Triangle is not Circle. 

II. Some Circle is not Triangle.

किन: 

कुछ पॉइटं थकेि नहीं हैं. 

कुछ थकेि लिभजु ह.ै 

कुछ ट्राएगंि सेट थक्वायर नहीं ह.ै 

सभी सेट थक्वायर सकष ि ह.ै 

लनष्कर्ष: 

कुछ ट्राएगंि सलकष ि नहीं ह.ै 

कुछ सलकष ि ट्राएगंि नहीं ह.ै



Statement: 

Some Point are not Scale. 

Some Scale is Triangle. 

Some Triangle is not Set square. 

All Set square is Circle. 

Conclusion: 

I. Some Triangle is not Circle. 

II. Some Circle is not Triangle.



Statements: 

Some Monkey are Donkey. 

Some Donkey are Wild Animal. 

All Wild Animal are Danger. 

Only few Danger is Lion. 

Conclusion: 

I. Only few Lion is Donkey is a 

possibility. 

II. All Wild animal can be 

Monkey.

किन: 

कुछ मकंी, डोंकी हैं  

कुछ डोंकी वाइल्ड एलनमि हैं  

सभी वाइल्ड एलनमि डेंजर हैं  

केवि कुछ डेंजर िायन हैं. 

लनष्कर्ष: 

केवि कुछ िायन के डोंकी होने की 

संभावना ह ै 

सभी वाइल्ड एलनमि मकंी हो सकिे हैं 



Statements: 

Some Monkey are Donkey. 

Some Donkey are Wild Animal. 

All Wild Animal are Danger. 

Only few Danger is Lion. 

Conclusion: 

I. Only few Lion is Donkey is a 

possibility. 

II. All Wild animal can be 

Monkey.



‘Give Today Mike Last’ is written as ‘pa mu pe ma’ 

‘Last Give First Find’ is written as ‘ma pa ga gn’ 

‘Beat Mike Last Good’ is written as ‘zn mu ma hi’ 

‘Find Good Day Today’ is written as ‘gn hi su pe’ 

Which of the following may be the code for ‘Mike Was Good’ in the given code 

language? 

िी गई कूट भार्ा में ‘Mike Was Good’ के लिए लनम्नलिलिि में से कौन सा कूट हो सकिा ह?ै

1. zn mu ma

2. pa mu hi 

3. mu hi po

4. pa ga gn

5. mu hi gn



‘Give Today Mike Last’ is written as ‘pa mu pe ma’ 

‘Last Give First Find’ is written as ‘ma pa ga gn’ 

‘Beat Mike Last Good’ is written as ‘zn mu ma hi’ 

‘Find Good Day Today’ is written as ‘gn hi su pe’ 

Which of the following is the code for ‘Beat Day’ in the given code language? 

लनम्नलिलिि में से कौन सी िी गई कूट भार्ा में ‘Beat Day’ के लिए कूट ह?ै

1. zn su

2. pa mu 

3. hi po

4. ga gn

5. None of these 



‘Give Today Mike Last’ is written as ‘pa mu pe ma’ 

‘Last Give First Find’ is written as ‘ma pa ga gn’ 

‘Beat Mike Last Good’ is written as ‘zn mu ma hi’ 

‘Find Good Day Today’ is written as ‘gn hi su pe’ 

If ‘What First’ is coded as ‘de ga’ then which of the following may be the code for 

‘What Mike Find’? 

यलि 'What First' को 'de ga' के रूप में कोलडि लकया जािा ह,ै िो लनम्न में से 'What Mike Find' के लिए 

कूट हो सकिा ह?ै

01. zn su de 

02. pa mu gn

03. hi po pe

04. mu de gn

05. None of these 



‘Give Today Mike Last’ is written as ‘pa mu pe ma’ 

‘Last Give First Find’ is written as ‘ma pa ga gn’ 

‘Beat Mike Last Good’ is written as ‘zn mu ma hi’ 

‘Find Good Day Today’ is written as ‘gn hi su pe’

What does the code ‘hi’ stands for in the given code language?

िी गई कूट भार्ा में कूट 'hi' का क्या अिष ह?ै

01. First 

02. Good 

03. Today 

04. Day 

05. None of these



Q. Conclusions (I) 22 > 19 (II) 22 < 11

Statements –

(1) 20 > 11 > 6 > 4 < 22 < 19

(2) 20 > 11 > 6 = 22 > 2 = 19

(3) 20 > 11 > 6 > 22 < 19 > 2

(4) 20 < 11 > 6 > 22 > 19 > 2

(5) 20 > 11 < 6 > 22< 19 > 2



Q. Conclusions - (I) 13 > 9 (II) 26 >13

Statements -

(1) 26 > 1 > 13 > 14 > 18 > 9

(2) 26 > 1 < 13 > 14 > 18 = 9

(3) 26 > 1 > 13 > 14 > 18 > 9

(4) 26> 1 > 13 > 14 < 18 > 9

(5) 26 > 1 > 13 > 14 < 18 > 9



Q. Conclusions - (I) 5 > 4 (II) 3 > 4
Statements -

(1) 11 < 3 > 5 < 25 > 4

(2) 11 < 3 > 5 > 25 > 4

(3) 11 < 3 > 5 > 25 < 4

(4) 11 < 3 < 5 > 25 > 4

(5) 11 < 3 > 5 < 25 > 4



Q. Conclusions - (I) 23 > 12 (II) 21 < 15

Statements –

(1) 23 > 22 > 12 < 15 > 3 = 21

(2)23 < 22 > 12 > 15 > 3 > 21

(3) 23 < 22 > 12 > 15 > 3 > 21

(4) 23 > 22 > 12 > 15 > 3 > 21

(5) 23 > 22 < 12 < 15 < 3 > 21



Q. Conclusions - (I) 10 > 4 (II) 20 = 19

Statements -

(1) 4 < 9 < 10 > 20 = 7 = 19

(2) 4 < 9 < 10 > 20 = 7 > 19

(3) 4 < 9 < 10 > 20 = 7 > 19

(4) 4 > 9 < 10 > 20 = 7 = 19

(5) 4 < 9 > 10 < 20 = 7 = 19



A is father B. B is married to D. D is son-in-law of X who have two sons P and Q. Z and 

Y are daughter of P. D have two children S and T. U is the son-in-law of B and married 

to T.

A, B का लपिा ह ै B, D से लववालहि ह ै D, X का िामाि ह,ै लजसके िो बेटे P और Q हैं  Z और Y, P की 

पिुी हैं  D के िो बच्चे S और T हैं  U, B का िामाि ह ैऔर T से लववालहि  

How A is related to U and S? /A, U और S से लकस प्रकार संबंलिि ह?ै

01. Father 

02. Mother 

03. Grandfather 

04. Son-in-law 

05. Grandmother



A man walks 5m towards the east to reach point A. He turns to his right and walks 6m 

to reach point B. Then, he turns to his left and walks 4m to reach point C and he turns to 

his left again and walks 6m to reach point D. 

एक व्यलि लबंि ुA पर पह चंने के लिए पवूष की ओर 5 मीटर चििा ह ै वह अपने िाए ंमडु़िा ह ैऔर लबंि ुB पर 

पह चंने के लिए 6 मीटर चििा ह ै लिर, वह अपनी बाई ंओर मडु़िा ह ैऔर लबंि ुC पर पह चंने के लिए 4 मीटर 

चििा ह ैऔर वह लिर से अपनी बाई ंओर मडु़िा ह ैऔर लबंि ुD पर पह चंने के लिए 6 मीटर चििा ह ै

What is the distance between the starting point and D? 

प्रारंभिक ब दं ुऔर D के  ीच की दरूी क्या है?
1. 13 m 

2. 9 m 

3. 8 m 

4. 7 m 

5. None of these 



A man walks 5m towards the east to reach point A. He turns to his right and walks 6m 

to reach point B. Then, he turns to his left and walks 4m to reach point C and he turns to 

his left again and walks 6m to reach point D. 

एक व्यलि लबंि ुA पर पह चंने के लिए पवूष की ओर 5 मीटर चििा ह ै वह अपने िाए ंमडु़िा ह ैऔर लबंि ुB पर 

पह चंने के लिए 6 मीटर चििा ह ै लिर, वह अपनी बाई ंओर मडु़िा ह ैऔर लबंि ुC पर पह चंने के लिए 4 मीटर 

चििा ह ैऔर वह लिर से अपनी बाई ंओर मडु़िा ह ैऔर लबंि ुD पर पह चंने के लिए 6 मीटर चििा ह ै

If a man walked 1m towards west from point B to reach point E, then what is the distance between 

point E and point A? 

यलि एक व्यलि लबंि ुB से पलिम की ओर लबंि ुE िक पह चंने के लिए 1मी चििा ह,ै िो लबंि ुE और लबंि ुA के बीच की िरूी

क्या ह?ै

O1. 6√1 m 

02. 5 m 

03. 12 m 

04. 3 m 

05. None of these 



If the even digit of the following number 53427689 increased by 1 and all the 

odd digits are decreased by 2, then what will be the sum of the digits which 

are fifth from the left and sixth from the right? 

यलि लनम्नलिलिि संख्या 53427689 के सम अकं में 1 की वलृि होिी ह ैऔर सभी लवर्म अकंों 

में 2 की कमी होिी ह,ै िो उन अकंों का योग क्या होगा जो बाए ंसे पांचवें और िाए ंसे छठे हैं?

01. 12 

02. 10 

03. 0 

04. 8 

05. None of these



Each consonant of the word ‘PANTALOONS’ is changed to the previous letter in the 

English alphabetical series and each vowel is changed to the next letter in the English 

alphabetical series. If the new alphabets thus formed are arranged in alphabetical order 

(from left to right), which of the following will be the sixth letter from the right end? 

शब्ि 'PANTALOONS' के प्रत्येक व्यंजन को अंगे्रजी वर्षमािा श्ृंििा के लपछिे अक्षर में बिि लिया 

जािा ह ैऔर प्रत्येक थवर को अंगे्रजी वर्षमािा श्ृंििा के अगिे अक्षर में बिि लिया जािा ह ै यलि इस प्रकार 

बने नए अक्षरों को वर्ाषनकु्रम में (बाए ंसे िाए)ं व्यवलथिि लकया जािा ह,ै िो लनम्नलिलिि में से कौन सा िायें 

छोर से छठा अक्षर होगा?

1. K 

2. S 

3. O 

4. R 

5. None of these



Six friends Tanya, Trisha, Tanmaya, Tolu, Tanu and Tanisha each got 

different marks in the examination. Tanya scores are more than Tanu but less 

than Tanisha. Both Tolu and Tanya score of 100 marks. Tanmaya and Tanu

have an equal score but scores more than Trisha. Tolu scores more than 

Tanmaya but scores less than Tanisha

छह िोथिों िान्या, िरृ्ा, िन्मया, िोि,ू िन ुऔर िनीर्ा ने परीक्षा में अिग-अिग अकं प्राप्त लकए  

िान्या के अकं िन ुसे अलिक िेलकन िनीर्ा से कम हैं  िोि ूऔर िान्या िोनों ने 100 अकं प्राप्त

लकए  िन्मया और िन ुके बराबर अकं हैं िेलकन लिशा से अलिक अकं हैं  िोि ूने िन्मया से 

अलिक अकं प्राप्त लकए िेलकन िनीर्ा से कम अकं प्राप्त लकए



Six friends Tanya, Trisha, Tanmaya, Tolu, Tanu and Tanisha each got 

different marks in the examination. Tanya scores are more than Tanu but less 

than Tanisha. Both Tolu and Tanya score of 100 marks. Tanmaya and Tanu

have an equal score but scores more than Trisha. Tolu scores more than 

Tanmaya but scores less than Tanisha



7 People A, B, C, D, E, F and G are 

sitting around a circular table. In 

which 3 people are facing outside 

and 4 of them facing inside the 

circle. Only three people sits 

between A and G who is facing 

outside. D sits immediate left of G 

and B. The neighbour of E facing 

same direction. F is not immediate 

neighbour of E but both are facing 

same direction. G sits third to the left 

of E. F is not facing the centre. 

7 व्यलि A, B, C, D, E, F और G एक 

वतृ्ताकार मजे के चारों ओर बैठे हैं  लजसमें 3 

व्यलि बाहर की ओर उन्मिु हैं और उनमें से 4

वतृ्त के अिंर की ओर उन्मिु हैं  A और G के 

मध्य केवि िीन व्यलि बैठे हैं, लजनका मिु 

बाहर की ओर ह ै D, G और B के ठीक बायें 

बैठा ह ै E के पडोसी का मिु समान लिशा की 

ओर ह ै F, E का लनकटिम पडोसी नहीं ह ै

िेलकन िोनों का मिु समान लिशा की ओर ह.ै 

G, E के बायें से िीसरे थिान पर बैठा ह ै F 

का मिु कें द्र की ओर नहीं ह ै



7 People A, B, C, D, E, F and G are 

sitting around a circular table. In 

which 3 people are facing outside 

and 4 of them facing inside the 

circle. Only three people sits 

between A and G who is facing 

outside. D sits immediate left of G 

and B. The neighbour of E facing 

same direction. F is not immediate 

neighbour of E but both are facing 

same direction. G sits third to the left 

of E. F is not facing the centre. 



Six person Krishna, Hari, Visnu, Shiva, Gopal

and Raju buy ice-cream of different flavours

viz. Pista, Vanilla, Banana, Mango, Strawberry 

and Chocolate on different days, from Monday 

to Saturday but not necessarily in the same 

order. Gopal does not like banana, and vanilla 

flavour but buy an ice-cream before Krishna. 

Only four people buy ice-cream between Raju

and Shiva. Hari buys Mango flavour ice-cream 

on Thursday. Only three people buy ice-cream 

between Raju and Vishnu. Raju and Vishnu like 

Chocolate and Pista flavour respectively. Raju

buys ice-cream before Hari. Banana flavoured

ice-cream sold before Mango flavoured ice-

cream.

छह व्यलि कृष्र्, हरर, लवष्र्,ु लशव, गोपाि और राज ू

लवलभन्न थवािों की आइसक्रीम िरीििे हैं अिाषि  सोमवार 

से शलनवार िक अिग-अिग लिनों में लपथिा, वनीिा, 

केिा, आम, थट्रॉबेरी और चॉकिेट िेलकन जरूरी नहीं इसी 

क्रम में हो  गोपाि को केिा और वेलनिा थवाि पसंि नहीं 

ह,ै िेलकन कृष्र् से पहिे एक आइसक्रीम िरीि िें  राज ू

और लशव के बीच केवि चार िोग आइसक्रीम िरीििे हैं  

हरर गरुुवार को मैंगो फ्िेवर की आइसक्रीम िरीििा ह ै   

राज ूऔर लवष्र् ुबीच में केवि िीन िोग आइसक्रीम 

िरीििे हैं  राज ूऔर लवष्र् ुको क्रमशः चॉकिेट और लपथिा

थवाि पसंि ह ै राज ूहरर से पहिे आइसक्रीम िरीििा ह ै 

आम के थवाि वािी आइसक्रीम से पहिे केिे के थवाि 

वािी आइसक्रीम बेची जािी ह ै



Six person Krishna, Hari, Visnu, Shiva, Gopal

and Raju buy ice-cream of different flavours

viz. Pista, Vanilla, Banana, Mango, Strawberry 

and Chocolate on different days, from Monday 

to Saturday but not necessarily in the same 

order. Gopal does not like banana, and vanilla 

flavour but buy an ice-cream before Krishna. 

Only four people buy ice-cream between Raju

and Shiva. Hari buys Mango flavour ice-cream 

on Thursday. Only three people buy ice-cream 

between Raju and Vishnu. Raju and Vishnu like 

Chocolate and Pista flavour respectively. Raju

buys ice-cream before Hari. Banana flavoured

ice-cream sold before Mango flavoured ice-

cream.



D, E, F, G, H, I and J are seven different boxes of 

different colors viz. Black, Red, Orange, Green, 

Yellow, White and Pink but not necessarily in the 

same order. Box D is not placed below G. Box 

which is of red color is immediately above D. 

There are only two boxes between G and the box 

which is of Black color and Box G is above the 

Black color box. Only three boxes are between F 

and the box which is of Red color. The box which 

is of Green color is immediately above F. Only 

one box is there between E and H. Box E is not of 

black color. I is of Red color box and the box 

which is of white color is immediate below to 

black color box. Neither box F nor G is of pink 

color. 

D, E, F, G, H, I और J अिग-अिग रंगों के 

साि अिग-अिग बॉक्स हैं  कािा, िाि, नारंगी, 

हरा, पीिा, सिेि और गिुाबी िेलकन आवश्यक 

नहीं इसी क्रम में हो  लडब्बा D, G के नीचे नहीं रिा

गया ह ै िाि रंग का लडब्बा, D के ठीक ऊपर ह ै G 

और कािे रंग के लडब्बे के बीच केवि िो लडब्बे हैं

और लडब्बा G कािे रंग के लडब्बे के ऊपर ह ै F 

और िाि रंग के लडब्बे के मध्य केवि िीन लडब्बे 

हैं  हरे रंग का लडब्बा F के ठीक ऊपर ह ै E और H 

के मध्य केवि एक लडब्बा ह ै लडब्बा E कािे रंग 

का नहीं ह ै I िाि रंग के लडब्बे का ह ैऔर वह 

लडब्बा जो सिेि रंग का ह,ै कािे रंग के लडब्बे के 

ठीक नीचे ह ै न िो लडब्बा F न ही G गिुाबी रंग का 

ह ै



D, E, F, G, H, I and J are seven different boxes of 

different colors viz. Black, Red, Orange, Green, 

Yellow, White and Pink but not necessarily in the 

same order. Box D is not placed below G. Box 

which is of red color is immediately above D. 

There are only two boxes between G and the box 

which is of Black color and Box G is above the 

Black color box. Only three boxes are between F 

and the box which is of Red color. The box which 

is of Green color is immediately above F. Only 

one box is there between E and H. Box E is not of 

black color. I is of Red color box and the box 

which is of white color is immediate below to 

black color box. Neither box F nor G is of pink 

color. 



In a certain code language-

‘game you they know’ is written as ‘37 39 42 74’

‘luck give for ruin’ is written as ‘38 53 57 61’

‘Win of cricket great’ is written as ‘31 49 54 79’

‘we match place right’ is written as ’38 55 63 72’

‘know place’ can be written as? / ‘know place’ के दिए संभादवत कोड क्या होगा? 

(1) 63 63                  

(2) 37 38              

(3) 63 34 

(4) 37 63                  

(5) None of these




